Thinking of how you feel right now, if a FEDERAL election were held tomorrow, which of the following parties' candidates would you, yourself, be most likely to support?/ Well,
which partv would vou sav vou would lean towards?
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A B C D E F G H |
Base: All Respondents (unwtd) 1501 702 799 340 540 620 94 245 604 553
Base: All Respondents (wtd) 1501 729 772 409 510 581 219 414 499 365
287 165 122 58 94 134 30 92 100 65
The Conservative Party 19.0% 23.0% 16.0% 14.0% 19.0% 23.0% 14.0% 22.0% 20.0% 18.0%
B C *
430 209 221 107 141 182 59 102 142 126
The Liberal Party. 29.0% 29.0% 29.0% 26.0% 28.0% 31.0% 27.0% 25.0% 28.0% 35.0%
* GH
222 84 137 83 77 62 21 63 74 63
The New Democratic Party (NDP) 15.0% 12.0% 18.0% 20.0% 15.0% 11.0% 10.0% 15.0% 15.0% 17.0%
A E E *
87 60 26 14 31 41 14 27 29 17
The Bloc Québécois (BQ) 6.0% 8.0% 3.0% 3.0% 6.0% 7.0% 6.0% 6.0% 6.0% 5.0%
B C *
74 40 34 24 24 26 17 19 24 15
The Green Party 5.0% 5.0% 4.0% 6.0% 5.0% 4.0% 8.0% 4.0% 5.0% 4.0%
*
10 6 4 1 4 5 - - 7 3
The People's Party of Canada 1.0% 1.0% 1.0% * 1.0% 1.0% - - 1.0% 1.0%
* G
13 11 3 1 4 9 - 6 3 4
Or some other party 1.0% 1.0% * * 1.0% 1.0% - 1.0% 1.0% 1.0%
B *
126 63 63 45 45 36 25 34 41 26
Would not vote/None/Would spoil ballot 8.0% 9.0% 8.0% 11.0% 9.0% 6.0% 11.0% 8.0% 8.0% 7.0%
E *
252 91 160 76 90 86 53 72 80 45
Don't Know/Not sure/Refusal 17.0% 13.0% 21.0% 19.0% 18.0% 15.0% 24.0% 17.0% 16.0% 12.0%
A I*
1501 729 772 409 510 581 219 414 499 365
Sigma 100.0% 100.0% 100.0% 100.0% 100.0% 100.0% 100.0% 100.0% 100.0% 100.0%
Statistics:

Overlap formulae used
- Column Proportions:
Columns Tested (5%): A/B, C/D/E, F/G/H/I
Minimum Base: 30 (**), Small Base: 100 (*)
- Column Means:
Columns Tested (5%): A/B, C/D/E, F/G/H/I
Minimum Base: 30 (**), Small Base: 100 (*)




Thinking of how you feel right now, if a FEDERAL election were held tomorrow, which of the following parties' candidates would you, yourself, be most likely to support?/ Well, which
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partv would vou sav vou would lean towards?
Gender
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Base: Decided Voters Leaners (unwtd) 1148 562 586 247 404 497 60 183 457 447
Base: Decided Voters Leaners (wtd) 1123 574 549 288 375 459 141 308 378 294
287 165 122 58 94 134 30 92 100 65
The Conservative Party 26.0% 29.0% 22.0% 20.0% 25.0% 29.0% 21.0% 30.0% 26.0% 22.0%
B C *
430 209 221 107 141 182 59 102 142 126
The Liberal Party. 38.0% 36.0% 40.0% 37.0% 38.0% 40.0% 42.0% 33.0% 37.0% 43.0%
* G
222 84 137 83 77 62 21 63 74 63
The New Democratic Party (NDP) 20.0% 15.0% 25.0% 29.0% 20.0% 13.0% 15.0% 20.0% 19.0% 22.0%
A DE E *
87 60 26 14 31 41 14 27 29 17
The Bloc Québécois (BQ) 8.0% 10.0% 5.0% 5.0% 8.0% 9.0% 10.0% 9.0% 8.0% 6.0%
B *
74 40 34 24 24 26 17 19 24 15
The Green Party 7.0% 7.0% 6.0% 8.0% 6.0% 6.0% 12.0% 6.0% 6.0% 5.0%
*
10 6 4 1 4 5 - - 7 3
The People's Party of Canada 1.0% 1.0% 1.0% * 1.0% 1.0% - - 2.0% 1.0%
* G
13 11 3 1 4 9 - 6 3 4
Or some other party 1.0% 2.0% * * 1.0% 2.0% - 2.0% 1.0% 1.0%
*
1123 574 549 288 375 459 141 308 378 294
Sigma 100.0% 100.0% 100.0% 100.0% 100.0% 100.0% 100.0% 100.0% 100.0% 100.0%

Statistics:
Overlap formulae used
- Column Proportions:
Columns Tested (5%): A/B, C/D/E, F/G/H/I
Minimum Base: 30 (**), Small Base: 100 (*)
- Column Means:
Columns Tested (5%): A/B, C/D/E, F/G/H/I
Minimum Base: 30 (**), Small Base: 100 (*)




Thinking about the Liberal government under the leadership of Justin Trudeau, from what you have seen, read, or heard, would you say that you strongly approve, somewhat
aDDrove somewhat disapprove or strongly disapprove of their performance?

Gender Educatlon
_ - : 54 ... =
|
Base: All Answering (unwtd) 1487 694 793 336 538 613 92 242 603 547
Base: All Answering (wtd) 1486 721 765 405 508 573 215 409 498 361
769 345 424 218 268 284 117 190 246 214
Top 2 Box (Net) 52.0% 48.0% 55.0% 54.0% 53.0% 50.0% 55.0% 46.0% 50.0% 59.0%
A * GH
144 65 80 38 51 56 35 30 45 34
Strongly approve 10.0% 9.0% 10.0% 9.0% 10.0% 10.0% 16.0% 7.0% 9.0% 9.0%
GH*
625 280 345 180 217 228 82 160 201 181
Somewhat approve 42.0% 39.0% 45.0% 44.0% 43.0% 40.0% 38.0% 39.0% 40.0% 50.0%
A * FGH
717 376 341 187 240 289 98 219 251 147
Bottom 2 Box (Net) 48.0% 52.0% 45.0% 46.0% 47.0% 50.0% 45.0% 54.0% 50.0% 41.0%
B * | |
352 162 190 113 114 124 48 108 122 75
Somewhat disapprove 24.0% 22.0% 25.0% 28.0% 23.0% 22.0% 22.0% 26.0% 24.0% 21.0%
*
365 214 151 74 126 165 50 111 130 72
Strongly disapprove 25.0% 30.0% 20.0% 18.0% 25.0% 29.0% 23.0% 27.0% 26.0% 20.0%
B C C * | |
1486 721 765 405 508 573 215 409 498 361
Sigma 100.0% 100.0% 100.0% 100.0% 100.0% 100.0% 100.0% 100.0% 100.0% 100.0%
Statistics:

Overlap formulae used
- Column Proportions:
Columns Tested (5%): A/B, C/D/E, F/G/H/I
Minimum Base: 30 (**), Small Base: 100 (*)
- Column Means:
Columns Tested (5%): A/B, C/D/E, F/G/H/I
Minimum Base: 30 (**), Small Base: 100 (*)



Some people say that the Liberal government under Prime Minister Justin Trudeau has done a good job and deserves to be re-elected this year. Other people say that it is time for
another federal Dartv to take over and run the country. WhICh of these statements is closest to vour point of view?

Gender Age Educatlon
_ . - ...
Base: All Answering (unwtd) 1455 681 774 332 528 595 91 239 591 532
Base: All Answering (wtd) 1458 709 749 399 500 558 213 404 488 352

619 278 341 158 209 252 97 151 193 178
Trudeau government has done a good job and deserves re-
election 42.0% 39.0% 46.0% 40.0% 42.0% 45.0% 45.0% 37.0% 39.0% 51.0%
A * GH
839 431 408 241 291 306 116 253 295 173
Time for another federal party to take over 58.0% 61.0% 54.0% 60.0% 58.0% 55.0% 55.0% 63.0% 61.0% 49.0%
B * | |
1458 709 749 399 500 558 213 404 488 352
Sigma 100.0% 100.0% 100.0% 100.0% 100.0% 100.0% 100.0% 100.0% 100.0% 100.0%

Statistics:
Overlap formulae used
- Column Proportions:
Columns Tested (5%): A/B, C/D/E, F/G/H/I
Minimum Base: 30 (**), Small Base: 100 (*)
- Column Means:
Columns Tested (5%): A/B, C/D/E, F/G/H/I
Minimum Base: 30 (**), Small Base: 100 (*)



Which of the federal party leaders do you think would make the best Prime Minister of Canada?

Gender

0000000000000 | cender | 0 A |
_ S . N
A B C D E

Base: All Answering (unwtd) 1387 639 748 315 508 564 86 221 569 509
Base: All Answering (wtd) 1383 661 722 373 485 526 205 370 471 336
585 265 320 138 201 246 100 149 169 166
Justin Trudeau 42.0% 40.0% 44.0% 37.0% 41.0% 47.0% 49.0% 40.0% 36.0% 49.0%
C H* GH
321 122 199 137 113 72 31 85 128 76
Jagmeet Singh 23.0% 19.0% 28.0% 37.0% 23.0% 14.0% 15.0% 23.0% 27.0% 23.0%
A DE E * F
85 54 31 11 40 34 16 24 32 14
Yves-Frangois Blanchet 6.0% 8.0% 4.0% 3.0% 8.0% 6.0% 8.0% 6.0% 7.0% 4.0%
B C *
319 181 138 68 102 149 47 89 114 69
Erin O’Toole 23.0% 27.0% 19.0% 18.0% 21.0% 28.0% 23.0% 24.0% 24.0% 20.0%
B CcD *
73 39 34 19 28 26 11 23 28 11
Annamie Paul 5.0% 6.0% 5.0% 5.0% 6.0% 5.0% 5.0% 6.0% 6.0% 3.0%
* |
1383 661 722 373 485 526 205 370 471 336
Sigma 100.0% 100.0% 100.0% 100.0% 100.0% 100.0% 100.0% 100.0% 100.0% 100.0%
Statistics:

Overlap formulae used
- Column Proportions:
Columns Tested (5%): A/B, C/D/E, F/G/H/I
Minimum Base: 30 (**), Small Base: 100 (*)
- Column Means:
Columns Tested (5%): A/B, C/D/E, F/G/H/I
Minimum Base: 30 (**), Small Base: 100 (*)



